



StudentName: _____

ExamDate: _____ ExamScore: _____

$$-1 \times 10^{(-1)} =$$

$$-1 \times 10 =$$

$$650 \div 10^{(-2)} =$$

$$3 \times 10^{(-3)} =$$

$$5 \times 10^{(-1)} =$$

$$535,3 \times 10^{(-1)} =$$

$$825,8 \times 10^{(-2)} =$$

$$511,4 \div 10^{(-3)} =$$

$$2 \times 10^{(-3)} =$$

$$133,1 \div 10^{(-3)} =$$

$$448,9 \times 10^{(-3)} =$$

$$10^{(-2)} =$$

$$3 \times 10^{(-2)} =$$

$$495,1 \div 10^{(-4)} =$$

$$498 \div 10^{(-4)} =$$

$$10^{(-1)} =$$

$$10^{(-3)} =$$

$$1 \times 10^2 =$$

$$319,7 \times 10^{(-3)} =$$

$$2 \times 10 =$$